Puzzle 12151 - Saturday, 30 January, 2016 - Difficulty 10

16 | 147V | 19 1V | o
1 |58|2|43|7|9]6
% L274""7::::: ’:177"" :::::f’éblﬂ” fff:f:,} |
6 | 47|59 81|23
{é’:ﬁ? :f:::::, :7173",11 fff::;:’:?*d*" ffffff{: e —
3191217 6 | 1 854
i : :7175"::1 :léf:fff:;: ‘ : : iféf::::
511614 3 2 987
15! ‘ 21 28 1 I
41171‘9“1 85 3 6 2
:1797::7': : : k178"7" Li:::} ‘:::, i § | 777,11111 kGi:::i
2/8/3[6/7]/9/5/4/1
N E 15 =1 =
19116‘:1 812|743 5
i :i —— p——— | ;71707:”:::,: ééiii pmp———
8125|131 [4[6,7]9
;a:: ——-—---h ’17;1’:," ,:::: 787,::,:::;
7| 3}4f9 |5 )62 1) 8

Copyright (c) www.dailykillersudoku.com



